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NMMS-2012
PART-I

rð¼køk-1
MENTAL ABILITY TEST

{kLkrMkf ûk{íkk fMkkuxe
In the following questions 1 to 10 numbers are arranged in a series according to a

certain principle underlying it. One number in the series is missing as shown by _____.
This number is given as one of the alternatives amongst the four numbers given below it.
Find this number and show your answer against the question number on the answer sheet.

Lke[u ykÃku÷k 1 Úke 10 «&™ku{kt yktfzkykuLku yuf [ku¬Mk rLkÞ{kLkwMkkh ytf ©uýe{kt økkuXððk{kt ykðu÷k
Au. íku{kt yuf ytf ¾qxu Au íku _____ {qfeLku Ëþkoðu÷ Au. «&™Lke Lke[u ykÃku÷k [kh rðfÕÃkku{ktÚke rLkÞ{kLkwMkkh
çktÄ çkuMkíkku ytf þkuÄe sðkçkÃkºk WÃkh su íku «&™Lke Mkk{u íkuLkku sðkçk Ëþkoðku.

1. 2,   4,   6, _____ .

sðkçk : (1) 8

2. 4,   9,   16, _____ .

sðkçk : (3) 25

3. 23456,   2345,   345, _____ .

sðkçk : (2) 34

4. 1,   10,   11, _____ .

sðkçk : (4) 20

5. 7,   14,   21, _____ .

sðkçk : (2) 28

6. 12,   9,   6, _____ .

sðkçk : (2) 3

7. 4,   10,   15 _____ .

sðkçk : (2) 19

8. 414,   525,   636, _____ .

sðkçk : (1) 747

9. 5,   15,   25,  _____ .

sðkçk : (1) 35

10. 7,   9,   11, _____ .

sðkçk : (3) 13

Mkk[k sðkçkku • Answer Key
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In the following 11 to 20 questions one group of alphabets is different according to

some principle lying behind it. The different alternative is your answer. Show it in an

another answersheet.

Lke[u ykÃku÷k 11 Úke 20 «&™ku{kt yuf {q¤kûkhLkwt sqÚk fkuEf rLkÞ{kLkwMkkh swËwt Ãkzu Au. su swËwt Ãkzu Au íku

ík{khku sðkçk Au íkuLku swËk sðkçkÃkºk WÃkh Ëþkoðku.

Mkk[ku sðkçk yLzh÷kELkÚke Ëþkoðu÷ Au. • Right answer is shown with underline

11. (1) RST (2) LMN (3) BCD (4) EGH

12. (1) MO (2) PR (3) GI (4) FD

13. (1) XYZ (2) UVW (3) IKJ (4) CDE

14. (1) AB (2) DE (3) HJ (4) KL

15. (1) ZYX (2) CBA (3) HIJ (4) DEF

16. (1) AAB (2) BBC (3) CCD (4) DDF

17. (1) FeK (2) DmL (3) tuv (4) JpX

18. (1) ZABC (2) YABC (3) XABC (4) VABC

19. (1) Aa (2) Gg (3) Ii (4) Bd

20. (1) STU (2) NLM (3) PQR (4) GHI
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The following questions from 21 to 30 are based on Analogy. There is some certain
relationship between first two groups, the same relationship should exist between the third
and the fourth group. Find out the correct answer from given alternatives. Show your
answer on the answersheet.

Lke[uLkk Ëþ 21 Úke 30 «&™ku Mk{MktçktÄ WÃkh ykÄkrhík Au. Ëhuf «&™{kt Ãknu÷kt çku sqÚk ðå[u y{wf
[ku¬Mk MktçktÄ Au, íku s MktçktÄ ºkeò yLku [kuÚkk sqÚk ðå[u nkuðku òuEyu. íkuÚke ykÃku÷k rðfÕÃkku{ktÚke Mkk[ku rðfÕÃk
þkuÄe ík{khku sðkçk sðkçkÃkºk WÃkh Ëþkoðku.

21. BOY : yob : : TOY : _______________ .

sðkçk : (1) yot

22. NOTE : NTOE : : FROG : _______________ .

sðkçk : (4) FORG

23. XYZ : ZYX : : ABC : _______________ .

sðkçk : (2) CBA

24. BC : DE : : FG : _______________ .

sðkçk : (2) HI

25. LMN : lmn : : XYZ : _______________ .

sðkçk : (3) xyz

26. ABBA : BAAB : : CAAC : _______________ .

sðkçk : (1) ACCA

27. CKD : CK : : BFG : _______________ .

sðkçk : (1) BF

28. WEEK : keew : : HOOK : _______________ .

sðkçk : (3) kooh

29. AC : ZX : : BD : _______________ .

sðkçk : (4) YW

30. GHI : JKL : : OPQ : _______________ .

sðkçk : (1) RST
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In the following 31 to 40 questions are one figure is given on the left side. You have
to find out the ‘Mirror Image’ from the given alternatives. Find your answer and show
it on your answersheet.

Lke[u ykÃku÷k 31 Úke 40 «&™ku{kt zkçke çkkswyu yuf ykf]rík ykÃku÷e Au. íku ykf]ríkLke ‘ËÃkoý ykf]rík’ Mkk{u
ykÃku÷k [kh rðfÕÃkku{ktÚke yuf{kt ykÃku÷e Au. ËÃkoý ykf]rík þkuÄe ík{khk sðkçk Ãkºk WÃkh sðkçk Ëþkoðku.

Mkk[ku sðkçk ÷k÷ htøkLkk htøkLkk [kuhMk{kt Ëþkoðu÷ Au. • Right answer is shown with Red Square

31.

(1) (2) (3) (4)

32.

(1) (2) (3) (4)

33.

(1) (2) (3) (4)

34.

(1) (2) (3) (4)

35.

(1) (2) (3) (4)
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36.

(1) (2) (3) (4)

37.

(1) (2) (3) (4)

38.

(1) (2) (3) (4)

39.

(1) (2) (3) (4)

40.

(1) (2) (3) (4)
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In the following 10 questions rearrange the given letters in their alphabetical order.
Four alternatives given to you. Choose the correct order and show it on your answersheet.

Lke[uLkk Ëþ «&™ku{kt yûkhku íku{Lkk {q¤kûkhLkk ¢{ «{kýu økkuXðku. ík{Lku [kh rðfÕÃkku ykÃku÷kt Au íku{ktÚke
yuf Mkk[ku rðfÕÃk ÃkMktË fhe ík{khk sðkçk Ãkºk WÃkh Ëþkoðku.

41. BAF :

sðkçk : (1) ABF

42. ACE :

sðkçk : (2) ACE

43. HBZ :

sðkçk : (3) BHZ

44. LAC :

sðkçk : (1) ACL

45. WZK :

sðkçk : (1) KWZ

46. UOE :

sðkçk : (3) EOU

47. AVE :

sðkçk : (3) AEV

48. RPQ :

sðkçk : (1) PQR

49. DTF :

sðkçk : (3) DFT

50. YBR :

sðkçk : (2) BRY
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Four figures are shown in the following 10 questions. One figure differs due to some
reason. The different figure is your answer. Show it on your answersheet.

Lke[u ykÃku÷k Ëþ «&™ku{kt [kh ykf]ríkyku ykÃku÷e Au. yuf ykf]rík fkuE fkhýMkh swËe Ãkzu Au. swËe Ãkzu
Au íku ykf]rík ík{khku sðkçk Au. íkuLku sðkçkÃkºk WÃkh Ëþkoðku.

Mkk[ku sðkçk ÷k÷ htøkLkk htøkLkk [kuhMk{kt Ëþkoðu÷ Au. • Right answer is shown with Red Square

51.
+ + + +

(1) (2) (3) (4)

52.

(1) (2) (3) (4)

53.

(1) (2) (3) (4)

54.

(1) (2) (3) (4)

55.

(1) (2) (3) (4)
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56.

(1) (2) (3) (4)

57.

(1) (2) (3) (4)

58.

(1) (2) (3) (4)

59.

(1) (2) (3) (4)

60.

(1) (2) (3) (4)
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Alphabets are arranged in series according to a certain principle underlying in the
following ten questions. One alphabet in the series is missing as shown by __________.
This alphabet is given as one of the alternatives amongst the four numbers given below
it. Find this alphabet and show the answer against the question number on the answersheet.

Lke[u ykÃku÷k Ëþ «&™ku{kt ytøkúuS yûkhkuLku yuf [ku¬Mk rLkÞ{kLkwMkkh ©uýe{kt økkuXððk{kt ykðu÷k Au.
íku{kt yuf ytf ¾qxu Au. su __________ {wfeLku Ëþkoðu÷ Au. «&™Lke Lke[u ykÃku÷k [kh rðfÕÃkku{ktÚke rLkÞ{kLkwMkkh
çktÄçkuMkíkku sðkçk þkuÄe sðkçk Ãkºk WÃkh su íku «&™Lke Mkk{u íkuLkku sðkçk Ëþkoðku.

61. B   D   F   _______________ .

sðkçk : (3) H

62. A1   C3   E5   _______________ .

sðkçk : (1) G7

63. BD   DF   FH   _______________ .

sðkçk : (3) HJ

64. AZ   BY   CX   _______________ .

sðkçk : (1) DW

65. A   CD   FGH   _______________ .

sðkçk : (2) JKLM

66. ABC   BCD   CDE   _______________ .

sðkçk : (1) DEF

67. ZAZ   YBY   XCX   _______________ .

sðkçk : (4) WDW

68. DEE,  ABB,  GHH, _______________ .

sðkçk : (1) CDD

69. AB   DEF   IJ   _______________ .

sðkçk : (3) LMN

70. ABZ   BCY   CDX   _______________ .

sðkçk : (3) DEW
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In the following ten questions, equations are formed by putting any three signs ÷ ×
= + − in an appropriate order in place of ∗ . Four options are given for the answer of

these signes. Find out the correct answer and show it on your answersheet.

Lke[uLkk Ëþ «&™ku{kt ∗ Lke søÞkyu ÷ × = + − {ktÚke ºký rLkþkLkeyku ÞkuøÞ ¢{{kt {wfðkÚke Mk{efhýku
çkLku Au. yk rLkþkLkeykuLkk ¢{{kt [kh rðfÕÃkku ykÃku÷k Au íku{ktÚke Mkk[ku sðkçk þkuÄe W¥khÃkºk{kt ík{khku sðkçk
Ëþkoðku.

71. 25  ∗  1  ∗  2  ∗  24

sðkçk : (1)  +  −   =

72. 20  ∗  20  ∗  20  ∗  20

sðkçk : (2)  =  ×  −

73. 10  ∗  2  ∗  10  ∗  10

sðkçk : (3)  ×  −  =

74. 4  ∗  2  ∗  2  ∗  4

sðkçk : (1)  ÷  +  =

75. 3  ∗  3  ∗  3  ∗  6

sðkçk : (2)  ×  −  =

76. 10  ∗  5  ∗  2  ∗  0

sðkçk : (1)  =  ×  +

77. 2  ∗  3  ∗  1  ∗  5

sðkçk : (1)  ×  −  =

78. 6  ∗  6  ∗  2  ∗  3

sðkçk : (1)  ÷  +  =

79. 2  ∗  2  ∗  3  ∗  3

sðkçk : (4)  −  +  =

80. 15  ∗  4  ∗  3  ∗  3

sðkçk : (1)  =  ×  +
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81. økE fk÷u {tøk¤ðkh níkku íkku Ãkkt[ rËðMk ÃkAe fÞku ðkh nþu ?

sðkçk : (2) Mkku{

81. If yesterday was Tuesday then which day it will be after five days ?

(1) SUNDAY (2) MONDAY (3) TUESDAY (4) WEDNESDAY

82. BD = 24, AC = 13 íkku AD =  .

sðkçk : (1)  14

82. BD = 24, AC = 13 then AD =  .

sðkçk : (1)  14

83. {eLkk xeLkk fhíkkt Lke[e Au, xeLkk heLkk fhíkkt ô[e Au, íkku MkkiÚke ô[wt fkuý ?

sðkçk : (1)  xeLkk

83. Meena is shorter than Tina, Tina is taller then Reena, then who is the tallest?

sðkçk : (1) Tina

84. {nuþ Ãkqðo rËþk íkhV W¼ku Au íÞktÚke íku zkçke çkksw 1 rf.{e. òÞ Au, íÞktÚke íku zkçke çkksw ð¤e 2 rf.{e.
òÞ Au íkku íku fE rËþk{kt síkku nþu ?

sðkçk : (4)  Ãkrù{

84. Mahesh stands towards East, from there he moves 1 km in left side, from there
he again moves 2 km towards left, then in which direction he is heading ?

sðkçk : (4) West

85. rðãkÚkeoykuLke yuf ÷kELk{kt rðsÞ çkhkçkh {æÞ{kt Au, íku ykøk¤Úke Mkkík{k ¢{u nkuÞ íkku íkuLke MkkÚku ÃkkA¤
fux÷k rðãkÚkeoyku W¼k nþu ?

sðkçk : (3)  6

85. Vijay is exactly in centre in a queue of students, if he is seventh from front, then
how much students will be behind him ?

sðkçk : (3)  6

86. ¼hík MkrhíkkLkku Ãkwºk Au, Mkrhíkk sÞuþLke çknuLk Au, sÞuþ ¼híkLkku þwt ÚkkÞ ?

sðkçk : (1)  {k{k

86. Bharat is Sarita's son, Sarita is Jayesh's sister, what is the relation of Jayesh with
Bharat ?

sðkçk : (1) Maternal Uncle
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87. yksu Ëþuhk Au, ð»koLkk 365 rËðMk æÞkLku ÷uíkkt ykðíkk ð»koLke LkðhkºkeLku fux÷k rËðMk çkkfe nþu ?

sðkçk : (3)  355

87. Today is Dusshera, considering 365 days in a year, how many days are left for next
year's Navratri ?

sðkçk : (3)  355

88. rÃkíkk yLku ÃkwºkLke ô{hLkku Mkhðk¤ku Ãkkt[ ð»ko Ãknu÷kt 42 ð»ko níkku, íkku Ãkkt[ ð»ko ÃkAe rÃkíkk yLku ÃkwºkLke
ô{hLkku Mkhðk¤ku fux÷k ð»ko Úkþu ?

sðkçk : (4)  62

88. Before five years, the sum of father and son age was 42 years, what will be the sum
of father and son age after five years ?

sðkçk : (4)  62

89. ykf]rík{kt fux÷e ÷kELkku (Mk¤tøk) Au ?

sðkçk : (1) 10

89. How many lines (straight) are there in the figure ?

sðkçk : (1) 10

90. ykf]rík{kt fux÷k [kuhMk Au ?

sðkçk : (3)  18

90. How many squares are there in Figures ?

sðkçk : (3)  18

•
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NMMS-2012

PART-II

rð¼køk-2
SCHOLASTIC APTITUDE TEST

(þk¤kfeÞ yr¼ÞkuøÞíkk fMkkuxe)
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PHYSICS
1. {uø÷uð xÙuLkLke ÍzÃk fux÷e nkuÞ Au ?

sðkçk : (3) 500 rf{e/f÷kf

1. What is the speed of Maglav train ?

sðkçk : (3) 500 km/hr

2. ÃkkýeLke ytËh [k÷íkwt ðknLk fÞwt Au ?

sðkçk : (3) Mkçk{heLk

2. Which vessel moves under the water ?

sðkçk : (3) Submarine

3. Lke[uLkk{ktÚke fE ðMíkwLku [wtçkf ykf»koíkwt LkÚke ?

sðkçk : (4) ÃkurLMk÷

3. Which of the following thing is not attracted by a magnet ?

sðkçk : (4) Pencil

4. ÓËÞhkuøkLkk ËËeoLkk ÓËÞLke rMÚkrík òýðk fE ÃkæÄríkLkku WÃkÞkuøk ÚkkÞ Au ?

sðkçk : (2) fkrzoÞkuøkúk{

4. Which method is used to know heart condition of a heart-patient ?

sðkçk : (2) Cardiogram

5. æðrLk fhíkk ðÄkhu ÍzÃkÚke økrík fhíkk rð{kLkLku þwt fnu Au ?

sðkçk : (1) MkwÃkhMkkurLkf

5. What is the name of a plane that fly faster than speed of sound ?

sðkçk : (1) Supersonic

6. Mkk{kLk ô[fðk {kxu ík{u fÞwt çk¤ ðkÃkhku Aku ?

sðkçk : (1) MLkkÞwçk¤

6. Which force do you use to lift a luggage ?

sðkçk : (1) Muscular Force

7. Wå[k÷LkLkk su Auzk ðzu fkÞo fhðk{kt ykðu Au íku AuzkLku þwt fnu Au ?

sðkçk : (1) ÃkúÞíLkçk¤ ¼wò

7. What is the name of end of lever that use for work ?

sðkçk : (1) Effort arm
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8. MkkýMke yu fÞk ÃkúfkhLkwt Wå[k÷Lk Au ?

sðkçk : (1) ÃkúÚk{

8. What kind of lever pincers is ?

sðkçk : (1) First

9. Ë¤Lkku Ãkú{ký¼qík yuf{ fÞku Au ?

sðkçk : (2) rf÷kuøkúk{

9. Which is an authentic unit for mass ?

sðkçk : (2) Kilogram

10. ÃkËkÚkoLkk ðsLkLku fE Mkt¿kk ðzu ËþkoðkÞ Au ?

sðkçk : (3) W

10. Weight of matter is denoted by which sign ?

sðkçk : (3) W

11. ÃkurhMfkuÃk{kt çku yheMkk ðå[uLkku ¾qýku fux÷k {kÃkLkku nkuÞ Au ?

sðkçk : (2) 45°

11. What is the measurement of an angle between two mirrors of a periscope ?

sðkçk : (2) 45°

12. Mk{ík÷ yrhMkk Mkk{u hk¾íkk Lke[uLkk{ktÚke fÞku yûkh yuLkku yus ðt[kÞ Au ?

sðkçk : (1) I

12. Which of the following letter is read as same by holding it in front of mirror ?

sðkçk : (1) I

CHEMISTRY
13. þwæÄ Ãkkýe fÞk íkkÃk{kLku ðhk¤{kt YÃkktíkh Ãkk{u Au ?

sðkçk : (1) 100° Mku.

13. At which temperature does pure water get transformed into vapour ?

sðkçk : (1) 100°C.

14. XtzkÃkeýkyku{kt fÞku ðkÞw ykuøkk¤ðk{kt ykðu Au ?

sðkçk : (2) fkçkoLk zkÞkufMkkRz

14. Which gas is dissolved in colddrinks ?

sðkçk : (2) Carbon Dioxide
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15. ÃkkýeLkku hkMkkÞrýf økwýÄ{o fÞku Au ?

sðkçk : (1) Mkkðorºkf ÿkðf

15. What is the chemical property of water ?

sðkçk : (1) Common soluble

16. Ãkúðkne Äkíkw ík¥ðLkwt Lkk{ sýkðku?

sðkçk : (3) Ãkkhku

16. Give the name of liquified metal element ?

sðkçk : (3) Mercury

17. Lke[uLkk{ktÚke fkuý Mðíktºk yrMíkíð Ähkðe þfíkwt LkÚke ?

sðkçk : (1) Ãkh{kýwt

17. Which of the following cannot have independent existence ?

sðkçk : (1) Atom

18. Ãkkýe{kt ykðu÷wt ík¥ð .......... ?

sðkçk : (3) nkEzÙkusLk

18. Element present in water .............. ?

sðkçk : (3) Hydrogen

19. ÃkkuxurþÞ{ Ãkh{UøkuLkuxLku økh{ fhíkk fÞku ðkÞw WíÃkLLk ÚkkÞ Au ?

sðkçk : (2) ykuÂõMksLk

19. Which gas is produced by heating potassium permanganate ?

sðkçk : (2) Oxygen

20. nðk fhíkk n÷fku ðkÞw fÞku Auu ?

sðkçk : (3) nkEzÙkusLk

20. Which gas is lighter than air?

sðkçk : (3) Hydrogen

21. fk[Lke çkLkkðx{kt fÞku ÃkËkÚko ðÃkhkÞ Au ?

sðkçk : (2) rMkr÷fk

21. Which material is used to manufacture glass?

sðkçk : (2) Silica
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22. VuhVkhLke ½xLkk {kxu sðkçkËkh Ãkrhçk¤ fÞwt Au ?

sðkçk : (3) Qòo

22. Which factor is responsible for phenomenon of change?

sðkçk : (3) Energy

23. nðk{kt hnu÷k ÃkkýeLke çkk»ÃkLkk sÚÚkkLku þwt fnu Au ?

sðkçk : (3) ¼us

23. What is the name of a volume of water-vapour in air?

sðkçk : (3) Moisture

BIOLOGY
24. Lke[uLkk{ktÚke fÞwt fwËhíke ¾kíkh Au ?

sðkçk : (2) ÞwrhÞk

24. Which of these is natural fertiliser?

sðkçk : (2) Urea

25. Lke[uLkk{ktÚke fkuý Vq÷{ýe íkhefu yku¤¾kÞ Au ?

sðkçk : (2) Ë÷[¢ (3) †efuMkh [¢ (4) ÃkwtfuMkh

25. Which of these is known as Petal ?

sðkçk : (2) Corolla Whorl

26. Lke[uLkk{ktÚke fÞwt ytøk ðLkMÃkríkLkwt ÃkúsLkLk ytøk Au ?

sðkçk : (3) Ãkw»Ãk

26. Which of these parts is a reproductive part for plants?

sðkçk : (3) Flower

27. þhehLkku çktÄkhýeÞ ½xf fÞku Au ?

sðkçk : (3) ÃkúkuxeLk

27. Which is the constitutional ingredient of a body?

sðkçk : (3) Protein

28. fÞwt rðxk{eLk s÷ÿkÔÞ Au ?

sðkçk : (2) rðxk{eLk Mke

28. Which of the following vitamin is a water soluble?

sðkçk : (2) Vitamin C
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29. ykÃkýk Ëuþ{ktÚke MktÃkqýo LkkçkwË ÚkÞu÷ hkuøk fÞku Au ?

sðkçk : (4) þeík¤k

29. Which disease is completely eradicated from our country?

sðkçk : (4) Smallpox

30. ÃkúSðÚke Úkíkku hkuøk sýkðku.

sðkçk : (1) {u÷urhÞk

30. Name the disease caused by protozoans.

sðkçk : (1) Malaria

31. þhehLkwt hkuøkku Mkk{u hûký fkuý fhu Au ?

sðkçk : (1) &ðuíkfýku

31. Who protects body against diseases?

sðkçk : (1) White Blood Cells

32. {kÚkk{kt ykðu÷e økútÚke fE Au ?

sðkçk : (2) rþ»koMÚk økútrÚk

32. Which gland located in head region ?

sðkçk : (2) Ptuitary gland

33. hwrÄhLkk økk¤ýLke r¢Þk fhíkwt ytøk fÞwt Au ?

sðkçk : (3) {qºk®Ãkz

33. Which organ filtrates blood ?

sðkçk : (3) Kidney

34. {øks, fhkuzhßsw yLku rðrðÄ [uíkkykuÚke çkLku÷wt íktºk fÞwt Au ?

sðkçk : (3) [uíkk

34. Which is the system made of brain, spinal cord and various nerves?

sðkçk : (3) Nervous

35. fÞk ÃkúfkhLkk ÃkúkýeykuLke ykt¾ku yÕÃkrðfrMkík nkuÞ Au ?

sðkçk : (3) ËhðkMke

35. Which types of animal possesses poorly developed eyes ?

sðkçk : (3) Burrowing animal



N.M.M.S.-2012 24

MATHS
36. 7 × (–2)  Lkku sðkçk Lke[u Ãkife fÞku Au ?

sðkçk : (2) (–14)

36. Which of the following is an answer of 7 × (–2) ?

sðkçk : (2) (–14)

37. 6.34 × 9 Lkku sðkçk Lke[u Ãkife fÞku Au ?

sðkçk : (1) 57.06

37. Which of the following is an answer of 6.34 × 9 ?

sðkçk : (1) 57.06

38. [(–3)2]5 Lkku sðkçk Lke[u Ãkife fÞku Au ?

sðkçk : (1) (–3)10

38. Which of the following is an answer of [(–3)2]5 ?

sðkçk : (1) (–3)10

39. 2
32

= Lkku sðkçk Lke[u Ãkife fÞku Au ?

sðkçk : (2) 29

39. Which of the following is an answer of 2
32

= ?

sðkçk : (2) 29

40. 64 Lkku sðkçk Lke[u Ãkife fÞku Au ?

sðkçk : (1) 8

40. Which of the following is an answer of 64  ?

sðkçk : (1) 8

41. 2Lkk ½LkLkku sðkçk Lke[u Ãkife fÞku Au ?

sðkçk : (2) 8

41. Which of the following is an answer for cube of 2 ?

sðkçk : (2) 8

42. fÞku [uf MkkiÚke ðÄw Mk÷k{ík Au ?

sðkçk : (3) ¢kuMz [uf

42. Which cheque is the safest ?

sðkçk : (3) Crossed Cheque
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43. Lk¤kfkhLke ð¢MkÃkkxeLkwt ûkuºkV¤ þkuÄðk {kxuLkwt Mkwºk.

sðkçk : (1) 2πrh

43. Give formula to find area of a cylinder's curved surface.

sðkçk : (1) 2πrh

44. 5 {ktÚke m çkkË fhíkk 3 {¤u su fuðe heíku Ëþkoðe þfkÞ ?

sðkçk : (3) 5 - m = 3

44. How can it be shown when we get 3 after m is substracted from 5 ?

sðkçk : (3) 5 - m = 3

45. çku hu¾kykuLkk AuËðkÚke Þwø{fkuýLke fux÷e òuz çkLku?

sðkçk : (1) çku

45. How much pairs of alternate angle are formed when two lines intersect each other ?

sðkçk : (1) Two

46. 52 Lkku sðkçk Lke[u Ãkife fÞku Au ?

sðkçk : (2) 25

46. Which of the following is an answer of 52 ?

sðkçk : (2) 25

47. 202 Lkku sðkçk Lke[u Ãkife fÞku Au ?

sðkçk : (1) 400

47. Which of the following is an answer of 202 ?

sðkçk : (1) 400

48. 400 YrÃkÞkLkk 10% hf{ fux÷e ÚkkÞ ?

sðkçk : (2) 40

48. How much is 10% amount of Rs. 400 ?

sðkçk : (2) 40

49. xfkLkku Mktfuík Lke[u Ãkife fÞku Au ?

sðkçk : (2) %

49. Which of the following is a sign for percentage ?

sðkçk : (2) %
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50. Ãkhe½Lkwt Mkqºk Lke[u Ãkife fÞwt Au ?

sðkçk : (1) 2πr

50. Which of the following is a formula for circumference ?

sðkçk : (1) 2πr

51. Mk{½LkLkk ½LkV¤Lkwt Mkqºk fÞwt Au ?

sðkçk : (2) (÷tçkkE)3

51. What is the formula of cubic measure for a cube ?

sðkçk : (2) (Length)3

52. MkkiÚke LkkLke Ãkúkf]ríkf MktÏÞk fE ?

sðkçk : (1) 1

52. Which is the smallest natural number ?

sðkçk : (1) 1

53. 2
3

4
 Lku r{© yÃkqýkOf{k fE heíku ÷¾e þfkÞ ?

sðkçk : (1) 
11

4

53. How 2
3

4
can be written in mixed fraction ?

sðkçk : (1) 
11

4

54. 30° ¾qýkLkk fkurxfkuýLkwt {kÃk Lke[u Ãkife fÞwt Au ?

sðkçk : (2) 60°

54. Which is the measurement of a complementary angle of 30° angle ?

sðkçk : (2) 60°

55. fE MktÏÞkLkku ÔÞMík LkÚke ?

sðkçk : (2) 0

55. Which number does not have an inverse ?

sðkçk : (2) 0
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SOCIAL SCIENCES
56. ÷kuÚk÷ fÞk rsÕ÷k{k ykðu÷wt Au ?

sðkçk : (2) y{ËkðkË

56. In which district is Lothal situated ?

sðkçk : (2) Ahmedabad

57. økwshkík{kt Lke[uLkk Ãkife fE Ãkúkr[Lk rðãkÃkeX ÃkúÏÞkík níke ?

sðkçk : (3) ð÷¼e

57. Which of the following ancient university in Gujarat was famous ?

sðkçk : (3) Valabhi

58. ¼khík{kt MknkÞfkhe ÞkusLkkLkku y{÷ fkuuýu fhkÔÞku níkku ?

sðkçk : (3) ðu÷uM÷e

58. Who had implemented subsidy scheme ?

sðkçk : (3) Wellesley

59. çkúñkuMk{ksLke MÚkkÃkLkk fkuýu fhe níke ?

sðkçk : (1) hkòhk{ {kunLkhkÞ

59. Who established Brahmo Samaj ?

sðkçk : (1) Rajaram Mohan Roy

60. Ëu÷ðkzkLkk Ëuhkt fÞk Ãkðoík WÃkh ykðu÷k Auu ?

sðkçk : (1) ykçkw Ãkðoík

60. On which mountain temples of Delwada is situated ?

sðkçk : (1) Mount Abu

61. ytøkúuòuyu RMx RrLzÞk ftÃkLkeLke MÚkkÃkLkk fÞkhu fhe ?

sðkçk : (2) R.Mk. 1600

61. When does Britishers established East India Company ?

sðkçk : (2) 1600

62. økktÄeSLkku sL{ fÞk þnuh{kt ÚkÞku níkku ?

sðkçk : (1) ÃkkuhçktËh

62. In which city Gandhiji was born ?

sðkçk : (1) Porbandar
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63. çkkhzku÷e MkíÞkøkúnÚke ðÕ÷¼¼kELku fÞwt rçkYË {éÞwt ?

sðkçk : (1) MkhËkh

63. Which title was given to Vallabhbhai after Bardoli Satyagrah ?

sðkçk : (1) Sardar

64. rËÕne{kt ykðu÷e {nkí{k økktÄeSLke Mk{krÄLke søÞk fÞk Lkk{Úke yku¤¾kÞ Au ?

sðkçk : (3) hks½kx

64. By which name Gandhiji's memorial place in Delhi is known as ?

sðkçk : (3) Rajghat

65. ¼qËkLkÞ¿kLkk Ãkúýuíkk fkuý níkk ?

sðkçk : (1) rðLkkuçkk ¼kðu

65. Who was the founder of Bhudan Yagya ?

sðkçk : (1) Vinoba Bhave

66. Ãk]ÚðeLkk {æÞ{ktÚke fÞwt ð]¥k ÃkMkkh ÚkkÞ Au ?

sðkçk : (3) rð»kwðð]¥k

66. Which tropic passes through centre of Earth ?

sðkçk : (3) Equator

67. yûkktþð]¥kkuLke fw÷ MktÏÞk fux÷e Au ?

sðkçk : (1) 181

67. What is the total number of latitudes?

sðkçk : (1) 181

68. Ãk]Úðe fux÷k ytþLkk ¾qýu Lk{u÷e Au ?

sðkçk : (2) 66.5°

68. At how much degree of angle Earth is inclined ?

sðkçk : (2) 66.5°

69. ¼khík fÞk ¾tz{k ykðu÷ku Ëuþ Au ?

sðkçk : (1) yurþÞk

69. In which continent India is situated ?

sðkçk : (1) Asia
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70. ¼khíkLke MkkiÚke {kuxe LkËe fE Au ?

sðkçk : (1) øktøkk
70. Which is the biggest river of India ?

sðkçk : (1) Ganga

71. Ãk]Úðe yuf rËðMk{kt yuf yktxku ÃkkuíkkLke Ähe WÃkh Ãkwhku fhu Au íkuLku fE økrík fnu Au ?

sðkçk : (2) ËirLkf økrík

71. Earth completes one turn on its axis in one day. What this speed is known as ?

sðkçk : (2) Daily Speed

72. Ãk]Úðe WÃkhLkku fux÷ku ¼køk s÷kðhý hkufu Au ?
sðkçk : (2) 71%

72. How much area of Earth is covered by water ?

sðkçk : (2) 71%

73. ËwrLkÞkLkw MkkiÚke ô[wt rþ¾h fÞwt Au ?

sðkçk : (1) {kWLx yuðhuMx
73. Which is the highest peak of the world ?

sðkçk : (1) Mt. Everest

74. Lke[u Ãkife fÞku ¼khíkLkku Ãkzkuþe Ëuþ LkÚke ?

sðkçk : (4) òÃkkLk
74. Which of the following is not a neighbour country of India ?

sðkçk : (4) Japan

75. økwshkíkLke Ãkrù{u ykðu÷k MkkøkhLkwt Lkk{ fÞwt Au ?

sðkçk : (2) yhçkMkkøkh
75. Which ocean is situated on the western side of Gujarat ?

sðkçk : (2) Arabian Sea

76. rðÄkLkMk¼kLke {wËík fux÷k ð»koLke nkuÞ Auu ?
sðkçk : (1) 5

76. How many years is fixed for Legislative Assembly term ?

sðkçk : (1) 5

77. Lke[u Ãkife þuLkku ònuh r{Õfík{kt Mk{kðuþ Úkþu Lkrn ?

sðkçk : (4) ½h
77. Which of the following is not included as public property ?

sðkçk : (4) House
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78. hkßÞLkk ÃkúÚk{ Lkkøkrhf fkuý fnuðkÞ Au ?

sðkçk : (4) hkßÞÃkk÷

78. Who is considered as the first citizen of a state ?

sðkçk : (4) Governor

79. økwshkíkLkwt rðÄkLkMk¼k ¼ðLk fÞk þnuh{kt ykðu÷wt Au ?

sðkçk : (4) økktÄeLkøkh

79. In which city is Vidhansabha Bhavan of Gujarat situated ?

sðkçk : (4) Gandhinagar

80. ½h ðÃkhkþe ðMíkw WÃkh Lke[u Ãkife fÞwt rLkþkLk nkuÞ Au ?

sðkçk : (2) ykR.yuMk.ykR.

80. Which of the following symbol is found on household items ?

sðkçk : (2) I.S.I.

81. ykÃkýk ËuþLkk çktÄkhýLkk ½zðiÞk fkuý níkk ?

sðkçk : (4) ynª Ëþkoðu÷ ík{k{

81. Who was the author of our country's constitution ?

sðkçk : (4) All the three mentioned here

82. rð&ðLkwt MkkiÚke {kuxwt ÷ur¾ík çktÄkhý fÞk ËuþLkwt Au ?

sðkçk : (2) ¼khík

82. Which country has the biggest written constitution in the world ?

sðkçk : (2) India

83. ¼khíkLkk ÃkúÚk{ hk»xÙÃkrík fkuý níkk ?

sðkçk : (1) zkì. hksuLËÙ ÃkúMkkË

83. Who was the first president of India ?

sðkçk : (1) Dr. Rajendra Prasad

84. ¼khíkLkk ÃkúÚk{ ðzkÃkúÄkLk fkuý níkk ?

sðkçk : (2) sðknh÷k÷ LknuY

84. Who was the first Prime Minister of India ?

sðkçk : (2) Jawaharlal Nehru
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85. økwshkík hkßÞLke ðze yËk÷ík fÞk þnuh{kt ykðu÷e Au ?

sðkçk : (4) y{ËkðkË
85. In which city Gujarat State's High Court is situated ?

sðkçk : (4) Ahmedabad

86. çkòh{kt {¤íke íkiÞkh þkfknkhe ¾kãMkk{økúe WÃkh fuðk htøkLkw r[ö nkuÞ Au ?

sðkçk : (3) ÷e÷k

86. Which coloured symbol is used on packed vegetarian food items available in
market ?

sðkçk : (3) Green

87. nku÷{kfoLkwt rLkþkLk fE ðMíkwyku WÃkh {wfðk{kt ykðu Au ?

sðkçk : (4) MkkuLkkLkk ½huýk
87. On which products the symbol of Hallmark is used ?

sðkçk : (4) Gold ornaments

88. MRP fE çkkçkíkLke {krníke ykÃku Au ?

sðkçk : (4) ®f{ík

88. Which information is provided by MRP ?

sðkçk : (4) Price

89. rðïøkúknf yrÄfkh rËLk fE íkkhe¾u Wsððk{kt ykðu Au ?

sðkçk : (1) 15{e {k[o

89. World Consumer Rights Day is celebrated on which date ?

sðkçk : (1) 15th March

90. ¼khíkeÞ Lkkýwt Lke[uLkk Ãkife fE rLkþkLkeÚke yku¤¾kÞ Au ?

sðkçk : (4) `

90. Indian currency is denoted by which of the following symbol ?

sðkçk : (4) `
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